\9 o bro Practice.

Skill 2.9 Solving equations with
pronumerals on bo’gh sides

Solve these equations:

1 2a+6=a-4 2 S5a+2=3a+8

3 lla—4=6a+1" 4 a+6=4a+3

5 2a+1=5-8 6 2a+1)=a-11
7 Ya+d)=a+8 8 32a+1)=5a+12

9 2(a-!-5)=3a—6 10 a+1=3@-5)

Skill 2.10 Solving equations by removing
more than two numbers

Solve:
1 3x+1

+6 4 2
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Skill 2.11 Simultaneous equations

(a) Solve these simultaneous equations using the
substitution method:

y= 2x x+y=21 ,
y=3x, x+y=20
y =3x, x+y=-20
y=x+1, 2x+y=10
Ix+y=23

b B W N =

y=x-1,

(b) Solve these simultaneous equations using the .

elimination method:
x+y=4, x-y=10
2x+y=5, -2x+y=17
x+2y=11, x-2y=-3
x4+2y=3, 2x-y=1
10 x+3y=5 2&x-y=3
Skill 2.12 Solving quadratic equations
(a) Solve these equations: .

== BN =

1 5#=25 2 26 =50
3 "’7_32 4 (a-Da+H=0

5 '(a+4)(2+‘1)=0 6 (—Z—+1)(a—-2)=0
7 Aa+1)a=-4)=0 7

(b) Factorise first and then solve the equations:
8 X+1ix+18=0 9 X+5x+6=0

10 a2-2x-15=0 11 a*+2x-15=0
12 ¢*+a-56=0 13 4*-a-30=0
14 a*—-4a+4=0 15 a*+12a+20=0
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(P) for arate {(R) over a penod of time (T) is given
PRT

i by the formula: e
100

 Find the interest paid in these situations:

(a) P =$20000, R=12%, T=2years- |
(b) P = $100 000, R = 8.3%, T=3 years
(c) P= $15 000, R = 5%, T =5 years

(d) P=$30000,R=10%, T=4 years

Skill 2.14 Transposing equations
: Transpose these equations to make a the subject: -

1 2Ta=¢:: 2 a+b=3¢c

3 Sa+2=c 4 ba+2b=3

5 “;1=55 6 alb+l)=c

7 %+3=b 8 9a-3=b+c
9 3(a+2)=h 10 2{a—4)=b
11 Por the equation F = ma

(a) make m the subject

(b) find the value of m when:
(@) F=100,a=20
() F=20,a=2"
(i) F=15,8=3
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Skill 2.9

1 a=-10
4 a=1
7 a=-2

10 a=8
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Skill 2.10
-1 k=5
4 x=-89
T x=19

skill 2.4,

1 x=7,y=14

3 x=-5,y=-13

5§ x=6,y=35

7 x=—1,y=6
9 x=1y=1 10
skill 2.12 o
b=%5
b=18
a=—-4a=-2
=—1,a=4
x=-2,x=-3 10
11 g=-5a=3 12
A3 a=6,a=-5 14
15 a=-2,a=-10

Skifl 2.13
(a) $4800 (b) $24 900 (c) $3750 (d) $12000
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Skill 2.14
1 a=%::- 2 a=3c-b
3 a=¢—2 . 4 a=3—2b
5 : 6
‘ ’ - ¢
5 a=10b- : 6 a=
a=1 : 1 a <)
7 a=2(b-3) 8 a=b+g+3
9 a=‘é—-20ra=h“6
3 3
10 a=§-+4ora;b—ﬁ
2 -2

1 (@ m=L
i a
B Om=5 @) m=10 () m=5



